SHMS Quartz Plane: Analysis of Beam Data (Spring 17)
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For the Pulseint plots that

select each bar
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P.dc.y at z_pos of Quartz Plane

P.dc.y at z_pos of Quartz Plane = yis =
track_y[0] + track_yp[0] * 276.35

P.dc.x at z_pos of Quartz Plane = xis =
track_x[0] + track_xp[0] * 276.35
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Histogram for bar 13: histo->Fill(xis,yis,NegPulselnt)

follow, cuts on y are used to &
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P.dc.x at z_pos of Quartz Plane




P.dc.xp vs (P.dc.x at z_pos = 276.25) as seen by Neg PMTs P.dc.xp vs (P.dc.x at z_pos = 276.25) as seen by Pos PMTs
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Histogram for bar413: histo->Fill(xis,track_xp[0],NegPulselnt) ~  Histogram for bar 13: histo->Fill(xis,track_xp[0],PosPulselnt)



P.dc.yp vs (P.dc.x at z_pos = 276.25) as seen by Neg PMTs P.dc.yp vs (P.dc.x at z_pos = 276.25) as seen by Pos PMTs

0.04 0.04 0.04 0.04 0.04 0.04
0.03 I 0.03
0.02 [ : I i G 0.02
; il
0.0
0
-0.01
-0.02
-0.03

—~0.04 5

0.04
0.02
0.02
0.0
0
0.0
—0.02
-0.03

~0.04 58

0.04

0.02

0.02

0.0

o

-0.01

-0.02 . —0.02
-0.02 -0.02

0 0
004780 a0 20 0 20 4D 60 0060 ~a0 20 0 20 a0 60 -00aETEN a0 - 00450 a0 -20 0 20 40 B0 -0.04%TE0 —a0 —20 0 20 a0 &0

<
Histogram for bar413: histo->Fill(xis,track_yp[0],NegPulselnt) ~  Histogram for bar 13: histo->Fill(xis,track_yp[0],PosPulselnt)



Response (Pulse Integral) froi
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Response (Pulse Integral) from F
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